Midterm Exam

95-771 Data Structures and Algorithms
Fall 2010

Balanced Search Trees (15 points)
5.  Consider the following B-Tree with a minimum of two and a maximum of four.
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(a) Redraw the tree after inserting 35 and then 77. (3 points)
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(b) Redraw the tree after inserting 15 and then 16 and then 19. (Begin work from the initial tree in
question (5), do not work from the tree that you drew in question 5 (a).) (3 points)
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(c) The tree in question 5a has a height of 1. What is the maximum number of keys that this type of tree
could hold with a height of 3? (3 points). oy N ¥.8°
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6. Insert the following numbers, one by one, into a Red-Black Tree. Show the tree after each insertion. Red
vertices should be circled and Black vertices should appear without circles. (6 points)

1,2,3,4,5,6
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